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Chapter QUiZ
. For use after Section 7.4

Write the polynomial in standard form. Identify the degree and leading

coefficient of the polynomial. Then classify the polynomial by the number
of terms.

1. —6r 2. 4+g-2g

3. %ﬁ oz %n’ 4. —1.6a + 2a* + 8.1a°

Find the sum or difference.
=N

5. (3x2 +7)+ (-x2 +2) 6. +2n)‘-—5)

Answers

2 SF: g 29 +4
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7. (<20 + 2h) - (21 - 5h + 12) m? = 2mn ) (= m - 3
lm l"\'
Find the product.
-2
9. (x +5)(x +4) 10. (4 - 2d)£3d 7) ‘7"* Beteok ot

1. (y +6)(»* +3y - 4) 12 (@
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b. Write a polynomial that represents the icture mcludmg
the frame. A = puw A= (20+L)06+2x

32-0 +4ox+t+

c. Find the perimeter and the area of the picture including the frame when the 12

width of the frame is 2 inches.
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P =

&= 2O0+X X = 20F2X

[GTx+x=\161t2X

(™ Solve the equation. -
13. 3> -12x =0 14, (6-)6-y)=0 g ty 5.
15. (4p+3)2p-5)(p+2)=0 16. -53(y -9)(3y +2) = 0 ~J
..% —-% i 3_';.;1 o 331-2: (&}
17. You are framing a picture with a frame of equal width on each side. % .%
8.
a. Write a polynomial that represents the perimeter of the plctune including
the frame. 20+ 2w P z:s-zo -t-2->c b+2;< S
P= -‘Q T + 31 ="1218%4.
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PR om— % A= ltIHY 1320
Assessment Book p.‘ = 1LOT320
~ =480

'—lmz-—\rnh T+

G *+2¢d-2¢€

'2522—‘1

20 ~28-d™4 SE: 20" +81a -1

u=-66 (-MU"“O'F;

420 A= Y= =3
aP ‘lz+8x

Faln

A Un“+12xt320 A= YxZ+12x +37

12+8x
aby g‘(z,) A =@ +712@) 1320 . P=2% A=UR0
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Chapter
7 .

Write the polynomial in standard form. identify the degree and leading
coefficient of the polynomial. Then classify the polynomial by the number
of terms.

1. 3x+5x2 =Tx+5 2. -5b° (HCJUO"“%)
3. 2oz4—z7+-§-z 4. -?,a2+ 44° (amonlkt)

Find the sum or difference.
5. -5(4b° - 5b) - (36* - b°) 6. (-3x +4x?) + (-122° + 7x
-3 44t - \2x3t___>‘

7. (2-3x)+ (14x—7x2—5) ?,t';’:qx -

KSR, Sy

Find the product.

9. (5-a)(a® - 3a-10) 10. (1 - 5¢)(2¢ + 6) 2.+ c,,-wf_?;:;oc?
= .
e veol ;

11, 2x(3x +1)(x* + 4x) 12. 5(p=3%

1 centimeter wide is placed around the piciure.
a. Write a polynomial that represents the perimeter of the frame.
b. Write a polynomial that represents the area of the frame.

c. Find the perimeter of the frame if the picture is 15 centimeters wide?

Answers

3
28¢: - Sb
6§ LEi=E

3.
4a5_ 2.2
. 82 - A4
DS L_C.'-é
5.

6 — \2%3 + xz"l""'}"

ngs— ?__Jz-llj *SC f

s(F-3)-5) s "3P 3p +9)
o . (P =Lpxq) B
13. A rectangular picture is 6 centimeters longor than it is wide. A

10. "o -28c +b

1.
1255 -30p 4 H4S
13. a
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